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Read the following instructions carefully before you begin to answer the guestions.
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12

IMPORTANT INSTRUCTIONS

This Booklel has a cover ( this page ) which should not be opened till the invigilator gives signal o
open il at the commencement of the examination. As soon as the signal is received you should tear
the right side of the booklet cover carefully to open the booklet. Then proceed to answer the
guestions.

This Question Booklet contains 200 questions.

Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do
not wrile anything clse on the Question Booklel.

An Answer Sheet will be supplied to you scparately by the Invigilalor to mark the answers, You
must write your Name. Register No., Question Booklet Sl No. and other particulars on side | of the
Answer Sheef provided, failing which your Answer Sheet will not be evaluated.

You will also encode your Register Number. Subject Code. Question Beooklel Sl No. etc.. with Blue
or Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not
encode properly or {ail to encode the above information, your Answer Sheet will not be evaluated.

Each question comprises four responses (A}, (Bl (C) and (D). You are to select ONLY ONE correct
response and mark In your Answer Sheet. In case you feel that there are more than one correct
response. mark the response which you consider the best. In any case, choose ONLY ONE response
for each question. Your tolal marks will depend on the number of correct responses marked by you
in the Answer Sheet.

In the Answer Sheet there are four brackets | AJ( B 1{ C | and | D { against each question. To
answer the questions you are to mark with Ball poinl pen ONLY ONE bracket of your chelce for
each question. Select one response tor each question in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for any item. (B) is the correct answer, you have to mark as [ollows :

(A1 1C1D]

You should not remove or tear off any sheet from this Question Bookletl, You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded. you must hand over your Answer Sheet to the Invigllator. You
are allowed to take the Question Booklet with you only after the Examination is over.

Failure to comply with any of the above instructions will render you liable to such action or penalty
as the Comrnission may decide at thetr discretion.

In all matfers and in cases of doubt. the English Version is final.

Do not tick-mark or mark the answer in the Question Booklet.







A)  @erloluipés et euib
C) @IUHs epLi. et 6ulD
“Typhlosol is connected with

Al Reproductive system

g LivenL. e aflurer el sows Coirey Qels

igues I
a) @&
b)  GuftGul e

c)] Goef
4 poos
eBlSPeer

Al 4 3 2 1
B 1 2 3 4
& 2 4 1 3
D) 3 1 4 2.

3

2

1qGenTarey’ eTeTLS) eTHEnIL T GIHTLITLenL WS ?

B)

D)

B)

afleyb &6 WwedoTL e

@eubmyel e gleydlevensu.

Excretory system

mne of these.

B}/I‘ 4th to 18th segment

o

none of these.

C) Blood vascular system
2. @oredle SefwrGur@ast ahg seo _sdle Qeba sreaoiuGdldans ?
A) 6 QU (B 8 615 GBI LGET Qe
B} 14 sugi (psHev 18 eug) eetoTfusel eusmiy
C) 9eug e 13 sug HTTLRSEN Qo
D)  @eubmnsi ergyeydldames.
In prawn, 'Pleopods’ are present from which segment
A) 6th to 8th segment
C) 9th to 13th segment D)
3.

uCiguwen IT
A
HEEVHET 60 &6
audlbnsamedlssi

spemeor G Gumym.
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ZouUG 4

Match List I correctly with List IT and select your answer using the codes given

below :
List I ' . ListII
a] Sepia 1. Arachnida
b)  Peripatus _ 2. Cephalopod
¢)  Scorpion , 3. Gastropod
d) Pila 4, Onychophox_'a.
Codes :

A) 4 3 2 1

B) 1 2 3 4
@;/ 2 4 1 3
D) 3 1 4 2.

4. ulguwe Ie ulgue I 2 Le eflural GQurepgdls &ps @il Gerer @dld@aeile

Siguue e sfiurer afleswg Caiey Qals :

uCigue I ugquwe II
a)*  ereUrT meur 1. seelge yw
b) QsrGsflur ewmfeur 2. oyfledur
c) QGemdur eurieur 3. meefi vl
d  dlemendiguid eorireun 4 dlyevGLediwr.
GOpser
a b c d

A) 1 2 3 4
B) 3 4 1 2

C) 4 3 2 1
D) 2 1 4 3.

620



5 200G

Maich List I correctly with List IT and select your answer using the codes given

below :
List I List II
a) Epyra larva 1. Liver fluke
b)  Circaria larva 2. Aurelia
¢l  Zoea larva 3. Freshwater mussel
d)  Glochidium larva 4. Crustacea.
Codes :

Al 1 2 3 4
B) 3 4 1 2
C) 4 3 2 1

By 2 1 4 3,

Qe ICILERES et ebdler eurglet ardeund sTeTluiic ailevkis

A) RN B} &GuéBuresr

C)  JCerGemflumr D) eefiur. .
Laurer's canal is present in the reproductive system of

A) Ascaris BKFasciola

C) Planaria D}  Taenia.

Glam g Grrifley Memeudles, erIBLTs aalu@eug
A)  pedt LTelieT UG | B) per urelledll Ll
C) e urelesl’s Lgs) D) Qe urellell L.

In Heteroneresis phase, the epitoke refers to .

A)  Anterior sexual region B}  Anterior asexual region
v
C) Posterior sexual region ) Posterior asexual region.

| 620 | [ Turn over
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7.

urriSélugdlés Wpédluwrat iy saeudsear GE& @)MHHED.

A) @by pEns® whnid Cuflu 6w

B) HIECE &(h

C) @LDL'.(?L_rraarrG&m'_rﬂturr

D) Quflu s,

In paramecium the essential carriers of genetic information are the
A) Both micronuclei and macronuclei

By 1Micronuclei

C) Mitochondria

D) Macronuclei.

dlemnevGomgugdler erbg Hlaneuldlé (o) GLsdlée amelBarGarall o_amergy 7
Al welgafld o eren QUuss &leuliuetéae

B) Qarsaler eollbmn u@gdldles 2 een aumines

C) uwealaailar aaeiye

D) meuﬂg,sﬁ]s&r sl LOHNID Gss &leuliLgpéae .

Schizogony in plasmodium takes place in

A} RBC of man . B) Lumen of stomach of mosquito

. C\Y' . Liver of man D) Liver and RBC of man.

Lilu@enmGemwrallest paa@emwwre opnin HE almha CamEHLueaT

Al vwallge wppb Qere B) 1@ opnb Qars

C) wellgear whrb Qeevedl y&dl D)  wr® whpd Gadvedl é8.
Primary and intermediate hosts of Trypanosoma are

A} man and mosquito B) cattle and mosquito

C\/ man and tsetse {ly D) cattle and tsetse fly.

620 |
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11.

7 ZOUG

urbdlugdles argreCaayean aliCurg CamLkigh 2
A) FT 6w B) [ EBETLIS6Y
C) revew D) gey.
In paramecium conjugation usually starts in the
Ay r;loming B) nooern
C) evening D)  night.
aregy sflureorg e 2_mydl Glad.
L saelt wly QUECSaons srihss.
I pereli wily E SreoTiLBD
NI pebreotii olig Qaallel aped seurdlé@.

IV.  petelt nlg Suien 2 mlieou &Pley besorL T &ll LueTURSHSID.

Bleupgyar
A) Tl @b sflureng B) Il wpmio 111 sflurestemey
C) eoarsgn sfluraiena D) T HHD HeUMTETEOEL.

Consider the following statements :
I Freshwaler mussel belongs to Mollusca

II. Freshwater mussel has mantle.

[1I.  Freshwater mussel respires with gills

IV. Fresh water mussel excretes with Keber's organ.

Of these
A) I alone correct B) If and [Il are correct
8‘) All are correct . D) None of these are correct.

[ 620 ] . | Turn over
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12, Spsscocubnet QoL Cemeusd Gar@ddie CrgCuiim Gflald 2 ereremeu eremen 2
A) Qms\@u_aaaseﬁ whnid W Esrelamer
B)  asguésrelsa whno aplCarelsen
Cl & e Lellesit npmin §oy Gispévellaeat
D) Gwegiedlast whnw Gyl o L elsa.
Which of the folJ(.)wing melazoan phyla are grouped under the Radiata ?
A) Mollusca and Echinoderm
B) Arthropoda and Porifera
CY | boelenterata and Ctenophora
D) Moilusca and Coelenterata.

13.  SpéaeiiL @leemiaelle) e Beun) ?

A} syevigyminguwr — souldiGenflur

B}  eUlygringur — UIGur ye@pews
C)  easdlermingur —  GurelGurGeuflwm
D) aunm @eurr gymiig wim — o fleeGeuflur.

State which of 'me following pairs is incorrect :

A) Asteroldea —_— Bipinnaria

B)  Ophiuroidea — Ophiopluteus
cy JEchinoldea —_ Doliolaria

D)  Holothuroidea — Auricularia.

(620



14. edluren gabheonsg CarhOs@ :

15.

ZOuUG

L GurGenmens GLrélev ereitugs wedoypader Gleush e Hesoremilum@io.

1.  GurGearmens CLrélev wealls @rsssdie araoiuGdng.

M. GorGerrensl GL.mélev wewiLadler aMpsamy mullé 2 eferg.

V. Gara Gurarrens.GLrdlanen Lreus Qaduyb.

Bleupurer
A [olEb efurearsy B) Tobrw 1 sflurereney
C) I, Ul wimid IV sfluretaney D) IVwbl@b sflurerg.

Consider the following statements :
L. Monocystis is exoparasite of earthworm.
II.  Monocystis cccur in blood of man.
1. Monocystis occur in seminal vesicle of earthworm.

IV.  Mosquito is the vector of Monocystis.

Of these
A) II alone is correct B?" 3 .I and III are correct
C) I, Il and IV are correct, D) IV alone is correct.

QaErsemen (PWeugILTe yPlee CoamoRid. gbleraiien

A) Bers vevalgrer Cpreow LEHENGEG THURSHSSDE

B) JdersvGurgusdle ugdl eurflwmgn

C) ouGaiflud yupsaemer ureus Glalyd Fraemoms 2 sferg
D) dfesageiur uyes Gedwd sTgerD.

Mosquirto eradication is impbrtant mainly because

Al\/ fmosquito act as a vector for several human pathogens
B) intermediate host for plasmodium |

C) vector for filarial worms

D) transmit Chikungunya.

620
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16.

Sp&hamemL aurshElunhsameTd sl

gahmy (A) s LriGenflur erfeur  eouleénGerflur  wHmid gy flg eGeurflwi
eurireuremeu) Gumeh 2 6engy.

sryeoo (R) @ LriGerflur eulla@aflutesen Gures G ELug eouGurGlaeiiy &
aldlenw 2 mi CeleusnE. |

£Cp QanRésiu Goter @RllGae apen sflurer ella_ows CarbOs@Hss :

A) (A) wpps (R) Greoro ef, Guaub (R) g (A) elhe sfurer alleréai

B (A wHmd (R) @yesorin sfl, Cueud (R) erettug (A) el eflures alenéswnce
C) (A efl, syermen (R} geumy

D) (A) seipy, syemé (R) s,

Consider the following statements and seleci your answer :

Asserticn (A} :Tornaria larva of hemichordate is similar to Bipinnaria and

Auricularia larvae.

Reason (R} : Tornaria resemble Bipinnaria to prove biogenetic law ‘ontogeny
recapitulate phylogeny'.

Now select your answer accox“dmg to the coding scheme given below :

Al Both (A} and (R} are true and (R} is the correct explanation ol (A)

B)- Both {A) and (R) are true, but (R} is not the correct explanation of (A)

e

M (A) is true. but (R) is false

C)
D) (A} is false, but (R} is true.

620



17.

18.

19.

20.

11 ZOUG
aflgGrrene s aypndl evug peoL QupSng 7
Al Qars B)  @u&s feiiuesy
Gl  Quss Cleustenen g D) Qussh.
From where the erythrocytlic cycle occurs ?
A) Mosquito B)V .IéBC
C) WBC D)  Blood.
QuLLrgmeidlen sramiu@eoug i 2
A) epUladlwim B}  yfleflur
C)  sLberohd) D)  @anlgr.
Melagenesis occurs in
A}l\//‘Obelia B) Aurelia
C) Sea anemone D) Hydra.
@yredley sremItiLGD Crés @evpunitisetlest oo cmllébans ereueeesy ?
A) 18 Glemesoraai B) 17 @\em oot &6t
C) 19 @lenesorgel D) 20 Qememo &6
How many appendages are there in prawn ?
A) 18 pairs B) 17 pairs
cy '19 pairs D) 20 pairs.
HL& BLeeSITSH0 s LG 2 nliysel 2 aisne ?
A) 5 B) 10
¢ 9 D) 12,
How many Tiedmann's bodies are present in sea star ?
A) 5 B) 10

o~

cY 9 D) 12.

[ 620 | Turn over
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21.

22,

23.

Sph oo euhmet Lurevwenr’ 2 sier ellevhi@ gl 2

A) méﬂg@ B) el

C)  yeoan D) @eubmetr egeybleanen.
‘Diastema’ is present in which of the following animals ?

A)  Man B)  Tiger

C) Cat DY ..-I;Ione of these.
“ClusCenyreiey enwet UDaIeUSE 2 GHeyeus:

Al @Qémaws &PUyDLTSs SGULSDHSTS

B) dleos Spuyausnens

C) wdlflseeansd Cardeaighars

D) @némaamu GLayDLTs SQrusHeTe.

‘Pectoralis Minor' helps the bird in

A) down stroke of wing B) changing the direction
C}  killing enemies DY’ 'cystroke of wing.
Ged 2 iflsemend seng snami wulles aRGEE Cleend 6o Heuanen
A el ey SuiQL L Nasetey

B)  enwebCulLev NNalGle s

C) GralamsuGumyen Gyl @Geul L.sh

D) epGean@uibr Lriaiel.

The male frog which carries the young in the gular pouch is

A Alytes Obstetricans B) Hylambates breviceps

C}  Rhacophorus reticulatus D)f Rhinoderma darwini.

620



25.

26.

27.

13

eonfeuralles Lrey G eruCLBSSD BeoL Clumeug @euaurn e s LBalns.

Al oaGanGabl B) o CLrGad
C) enGamGahl D) Lf(Sl_rrG’;aaL&.
Occurrence of sexual reproductfon in a larva is called as

A) Anisogamy | B}  Autlogamy
C) [sogamy I))/l;éedogamy.

BTG LGy @ &SITD
3142 2123

Al 3143 =12 Bl 5ip3=92
The dental formula of dog is
0 o5 =22 D) Togs = 16,

FGp GO ReTen Weaey wHEH a6 Gt 2 L Wg) 6F) ?

A)  Nevriig e B) &L e
C) Quaefiny D) gfludu.

Fish which has medicinal value is

A

7 Anguilla B) Muraena
C) Clarias D)  Arius.
@ym surpallaen erdledEBhe 2. oL TeTemey ?

A syeugGurebldil. Sanae B}  wgUeoimi

C)  Npesin D) eifllgesen.
Amphibians are originated from

-
AY  Osteolepid fishes B) Dipnoi

C) Limulus D) Euryptlenus.

ZouG

[_629 } | Turn over
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28. &Gy HTLIUL et eneneugaile TN LLAD aNOYH HETEDIEIL WS dve,
A} mraD B)  asawerimg alflwes
C) &t palfues | D) &s&@m_e s urby.
In the {ollowing. which one is non-poisonous snake ?
A) Cobra B) Vipers
C) Kraits D‘Y >Echis.
29. uUD&EHS QUEITH LMEDaUSET
A GrglGL B)  erf@erLn
C) @emeu @yesorin D) @Geubmer ergiopdlesanen.

Flightless birds are

o

A)‘ Ratitae B) Carinala

C) Both of these D)  None of these.
30. erctnGLrevenL v eTgan et QIBML.TyemL LG ?

A} zamelid B @Uss sphHé

C)  s&ifley Beab D) @eoublumesh.

Endostyle is related with

A} ‘Fleedlng ' B) Blood circulation

C} Excretion D) Reproduction.

31. &Gy o srencupdles ergy efwra Qummppdlyeieng 2

A} yCprGLraraes —  geSwmeul

B) aflyCryrarae — oggCemmavGLrD
C}) e Nerad —  urelllere

D) GaprGuoraise — & et

| 620 |
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33.

15 ZouG

Which one is correctly matched ?

A) Protocercal — Teleosi

B) Heterocercal — Cyclostome
é/ /Diphycercal — Polypterus
D) Homocercal — Shark.

pile eunmpeuetaubmila qrusey il fCureneds edsemean dlaneraenn sl

Sifibgsrena
Al preng WeHdlw dlanensenta B)  epedimy (phdlu Slanangents
C) @ren® wadlu deersents D) @eubmer o geybdlevency.

Truncus arterisous of amphibians is divided into

A) four main branches B) three main branches
Ay~ | two main branches D) none of these.
éligwest @emd oMl (paue HramIsTeTans g Glavedle

Al Qerestiani_lies geurgh o aieng

B)  myoy @yprdes SpOupsHler Wgie Hre 2 eeng)

Cl paeIuD @pe auga HrbL e b

D)y HEMGWTEITE 6UTe GIEILILL.

The Ascidian tadpole is unquestionably a true chordate because of
A) Pharyngeal slits in the pharynx

B) Ngg)chord helow the nerve tube

C\ Dorsal tubular nerve cord

D}  The muscular anal tall fin.

[ 620 | | Turn over
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34.  Jereumeuaneunper sfwral Qurmhdlu Gomy.enns sesm@uily.

A)  gUemm —  @weurpalleste wrnT

B)  ydlgur @end 2 uilf —  pHBUTEE eustT 2 (BLOTHDD

C)  @&slGureuggl —  2.penen LgwD

D) aeu@eGemiig yreb —  @ueurpailmefler apestGemimig aefr.

Which one of the {ollowing is correctly matched ?

Ay ] .Dipnoi —  Uncles ol Amphibian

B) Ascidia tadpole — Progressive melarnorphosis
C)  Ichthyostegid —  Living fossil

D) Eusthenopteron —  Amphibian ancestor:

35. GQLDBurge G ahE sraariu@dlng 2
Al paseyibys QarLrr B) iy suemenwid
C) oapeven D) weoenLGur.
Temporal fossa is found in
A) Vertebral column B) Pectoral girdle
C)  Brain 5 skl

36. &spasatiLeubnien orgl erBan e llendlatd 2
Al sdlgues B) @i Gpremoemsst
C) mé D) GQuesGennm dHlenmervery.
Which cne of the following is agnatha animal ?
A) Ascidian B\I" ’ .I’Petromyzon
C) Eel D) Balanoglossus.

620 |



37.

38.

39.

40.

17

L GGanm erastugy

A} upsEd Gmeurpeal B)  up&Gh urer iy
C) LP&HST LDeDEU D) UM&GH@EGD 26 eus .
Draco is a

A) Flying amphibia B)  Flying mammal
C)  Flightless bird DY Flying reptile,

QaurGearsrTGLLLr-allés GrmiGLrant® Semwhgsier GLb

A)  sumeé B) aldbpuugd

C) Qrewgev D)  @eubmst argieudldencs.
Cephalochordata has notochord at its

A) Tail B} Abdomen

C) Testis D\/none of these.
vmbysefles aflay sl Spsece abg 2 NI N 2 HeTHHD
A} Sl deny B)  uGrmgLev

C} Guéeldleveuflen D)  eSfugeucue.
Poison glands of snake are modification of

A)  Orbitals BY  Parotids

C) Maxllaries D} Linguals.

mg BTG e GHlewl upeney

A)  GCoevev Ghmoevigsev B)  dBlévsusiv eonos Gresrenv

C)  #inger yCu Gmdlur D)  GuGeur SflevCr iev.

National bird of our nation is
A) Gallus domesticus B) Milvus migrans

C) Psittacula eupatoria Ij)/ Pavo cristatus.

| 620 |
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41].

42.

43.

44,

aabsrGerd @dld aramiufeaidldema.

A)  aerTi( Osevsen B) saeiye Qedsen

¢  Hmrs Qe D)  @Quss ey ogmbest.
Lysosomes are absent is

A) Thyroid cells B) Liver cells

C)  Kidney cells DY~ Red Blood Corpuscles.
Wesieumd Glae piesmamimiiysefic »Gedelld Quibdlyn aar e peaiifeig ag 2
A) 2 U B . B) el G ramesrflwr

C) Cordgh sl (s Cs1ed D)  eoyGur@emb.

Which of the following cell orgnelles is described as the ‘engine of the cell' ?
A) Nucleus B}  Mitochondria

C)  Golgi complex DV‘J Ribosomes.

geaargalda Sy fdaaaho sufibigens@sd sowrer aldlasdle 2 eeng eresLeng wri

Bles g 2
A) eurLgew B  &fls
C) GloetT_ay ' D)  srf&&Tosl.

Who proved that DNA contains equal proportions of Pyrimidines and Purines ?
A}  Watson ' | B) Crick

C)  Mendel ' oY~ -.Chargaff.

UHHHEE 2 srar @ream( Qedaensdlac Cu Gamaiy Geare ghubfing.

Al SemrevCurGh_svGuol i B) eowGaGuden

C)  dlysallurt genenset D)  eenGurdlenmauible Glriig s@eub.
The point of connection between two adjacent cells is

AN ‘.Plasmodesmata | B}  Middle lamella

C}  Nuclear pores D)  Endoplasmic reticulum.

1620 |



45.

46.

47.

48.

19 Z0UG
soalTelles péa Hasb Quleudled wsdu Uk Cub O mieTsERITIIY
Al geilenrs aueme B)  srégl 2 niiuemoliy
C) anev@ar@amb D) aew GLrsreasmgflur.
The cellular organclle that plays on imporiant role in detoxification in liver is
A" ’Endoplasrnic reticulum B)  Golgi apparatus
C) Lysosome D) Mitochondria.
L& fkis T esHldh amsanssTi@ ¢aala sreeiufn epelléGatsme Sev@eseflar Cluwr
A} ol B)  digre
C)  @eauralLCesmd D)  euQ@pmon.

The photosynthetic units present in the thylakoid membrane of chloroplast are

called
A) Frel B) Grana
c) Quantosormne D) Stroma.

Z-DNA ol s spidley ergmenest HlugsleNCuraL faer @me@n ?
A) 10 B) 11 |

C) 12 D)y 13,

In Z-DNA how many nucleotides per turm are present ?

A) 10 13) Il

ct 12 . D) 13

A-DNA allest sph &hidlen erggeanen Bl seflGuren, Qs Giheeh
A) 10 B) 11

C) 12 Dy 13.

In A-DNA. how many nucIeotidés per turm are present ?

A 10 B)\' 1 l

C) 12 D) 13

,r6—2(_Jj | Turn over
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49, ulguwe I uigue IT 2 L eflurean Qurepsds &ps GOHUNLQerer @Blu@Geeter

SuuenL ey sfuren el aws Carey Qale :

utigwen I uCigwé IN
al Garag 2 piliysen 1. ygsb, ureOurmenen §lengdae
b)  @aGsrGeunibasl 2. dlewenQamdGLomett
cl yeullenrs cusmes 3. Qaruply 2 HeurHeb.
GoRser :
a b c

A1 23
By 2 3 1
d 2 1 3
D3 1 2

Match List I correctly with List I1 and select your answer using the codes given

below : :
List I List I
a}  Golgi bodies 1‘. Digesiion of proteins, carbohydrates
b) Lysosomes 2.  Glycosidation
¢) Endoplasmic reticulum .3. Synthesis of lipids.
Codes :
a b c
A) 1 2 3

By 2 3 1

C) 2 1 3

620 |
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S51.

52,

53.

21 ZOUG
s&HEITaldiemen 681 iDL GeSTan auUTLHS eoniiLy ?
A 2 U &@m ULed B} sislllenme euamen
C)  Slemreronm Ll evibd D) &rég &L@@@g,rr@gﬂ_l
Microvilli are specialized components of
A) Nuclear envelope B)  Endoplasmic reticulum
CcM” Plasma membrane D) Golgi complex. |
ys @&CrrCGniGambaet Gl areawiun
Ay Sgye Qedvaen B)  upliysdlaer
C]  ergpubl Gleduaen D) G yidlee.
Giant chromosomes are present in
Al Kidney cells B ) Drosophila
C} Bone cells D) May fly.
ﬁ\s&m@mmmg’)geﬁ Qewgupr CarLreins HEeslUGag T8 7
A) UGA B) LJAA
C} UAG D)  @lmel e,
Which of the following are considered as non-sense codon ?
A) UGA B) UAA
C)  UAG D} All of these.
s HUUDSan CnTdleeilear Lwesaeh
A)  DNA ofleér il GL-sdis Gl Heug
B} DNA 2_(hour&an
C) RNA 2_meur &b
D) ATP 2 (reum&ab.

Restriction enzymes are used

A‘)'(- to cut DNA at particular places B)  to synthesize DNA
C) lo synthesize RNA D)  to synthesize ATP.
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54. &pserayueunner, ag eflursat QurEpssiu’ Hsierg 2

A} Blurdlen —  Gedll

B) sursbn ewl GLméledy  — e Curdlymn

Cl @CymBursamb — PUORHGUOHGID HE 2 ny
D) a2.l&m —  ybnGrrw.

Which one of the [ollowing is correctly matched ?

P

AV Meiosis —  Gamete

B}  Abnormal mitosis —  ldiogram

C) Chromosome — Regulatory organelle
DJ Nucleus —  Cancer.

55. ulgwé I ulgué I 2 dr sflurel QurEsds Sps GHUAL Rerer @luGs el

gL ies sfluren el mug Careay Gels :
utiques I uligweo II
a) Flemidoeor 1. B G sreurb

hlools gdedt

1

b)  Gudlavevsv oymsymdlen

¢)  GaangLm yilgeden 3. 20w syys
d}  @&CLaGureren yligLm 4. odlaliflu ysad.
@Q{]&f@&iﬂi’ :

A) 2 3 1 4
B) 3 1 4 2

. C) 1 3 4 3

| 620 |
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Malch List I correctly with List II and select your answer using the codes given

below :
List I List II
al Klebsiclla 1. Single cell protein
b}  DBacillus anthracis 2. Nif gene
¢  Candida ulilis 3. Bio weapon
d}  Pseudomonas putida 4. Super bug.
Codes : |
a b c d
Al” 2 3 1 4

B) 3 1 4 2
Q) 1 3 4 3
D) 4 3 1 2.

@de aa urs 2 pusdleowus seured ovbpd QusdlCuralla oSG
Siflegdlpanea euGagb 7
A) UAA B) UAG

C) UGA D)  AUG.

Among the lollowing which one is a starting and methionine codon f{or protein

synthesis ?

A) UAA B) UAG
\ .

C) UGA : D) AUG.

L 620 ‘ [ Turn over
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57.

58.

59.

60.

Qe e Gt @eveurs @CrrluirGambaetissr Guwi

A) :9,5)@”',.-3,%;_!,“ & B) Gl nGssngtls

C}  eCarbadnyfla D)  @eupmet ageyblemen.
Chromosome which lacks Cen.Lromere is

A) Acrocentric B) Melacentric

C)  Telocentric Df  None of these,

Umin e @léveurs ©lgey mietore_milu ey ?

Al Qe fQure B} eowl G ramedong fur

) Senmeug L D) =l &,

Outer membrane is absent in which of the cell organelles ?

[\5\' Centriole ’ B3) Mitochondria

C) Plastid 7 3} Nucleus.

Qumestie ~ . adlév eueni&dlymid evrreur Quedor Glunsielwralles YCymCudlales gy
SOIHE eueT FElLELbBSETE 8 b @erons aenmdluynid 2

A) 2 G el - : B) Quem

C) syoor D) @Geubmnet eremsuwbléveves.

[n Bonellia, the developing larva which settles on proboscis of an adult female

will develop into what sex ?

A) Inter-sex B) Female
C)" Male D) None of these.

NG Garneaid sreavtiin Ceudl QuTBL &6

A} BT 66015 . DD 1 .6TET 6 B)  yGyriges whmh g .erebig.
C) ui.een.g. whob L)&0 D) Wil sel hmyD 19 6Tei .6
Ribosomes are chemically composed of

A) RNA and DNA Bj Proteins and DNA

Cy "RNA and proteins D} Lipids and DNA.
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62.

63.

64.

25 200G
SPHHTTL 68 UBUMSHNE T8 HTUDDUTET FHeS cuams 2
A) Aa Bb B) AA Bbh
C) Aa BB D) aabb.
Of the following genotypes. which one is a pure offspring ?
A) Aa Bb B) AA Bb

C) AaBB DM aa bb.

speeeu ghlalue cudbgariadile Queamn_dlar eldlaamensd sam@ulydarseurt

w7
A) e adtflery B)  arrQlyeey
C) Gul e aet D) eullarnos.

Which of the following scientists did not discover Mendel's law ?

A) De Vries B) Correns

C)\/Bateson D) Tschermak.

“pevey oy ubhdlu dleSwey

Ay Qeesflsey B)  wysQseaflée

C) yOuealae D) w&&smeusdl.

The science of being ‘well born’ is

AN ..I.E.ugenics B) Euthenics

C) Euphenics D) Etihology.

weflaiaeien LTeh Gerwoby LIHPS sL-dH0 web Gararmd GHTL G
A Vemerer & Cmbly Pwr B} QLenet @emnur®

C)  HpseGE D)  feurer Qe Grsslerans.

Sex-linked inheritance in human beings can cause which of the f{ollowing

diseases ?
Al Phenyl ketonuria B) Down's syndrome
C)N:-" Colour blindness D)  Sickle Cell Anaemia.

L@@g J [ Turn over



ZoUuG 26
65. unELieal wLelld W uaTTaug, TOSHEHTLTE allerh@eoug
A X-Y-Sevewiiy gen Bl  Y-Oeemoiy fer
C) Z-Slem ety é‘aﬂ D) X-Lﬂemmuq ?.‘/_5651
Hair in pinna of ear is an example for
A) X-Y-linked gene B}"’)"Y-linked gene
C) Z-linked gene D) X-linked gene.
66. @OUIILL et brHmib 2 L reag
A ©CyrCurBsmbseailes ghu@d Glorés wrHoLs
B) ©CrmrGurGarbaeailan aetmeasemaullés ghu@n wrbHob
C)  Peanaeflar 2 aier Py seflCuranigey Beteuflans syabinies ghuBD wIHHD
D)  ©CmGurBsrbaaie 2 erer gaimeilcs srpTyawinTas: erasiLBDd @enilie
FHuD WIS .
Point mutations are due to
A) gross changces in c‘hromosomes
B) change in the number of chromosomes
cV cﬁange in the nucleotide sequence of gene
D) changes in the normal arrangement of genes with chromosomes.
67. wCasfGuT . Geasst 4CITCaMNGLT  seflés @\ Mhta 2 (Heurag
A) gt urshigen Counur®h eLbeTeo
' B) L Gesrem 2. pajpenm e
C) Garpeow 2 pejpempurey
D) @emeu enesHgin.
Eukaryotic cells originate from prokaryotes probably by

A) differentiation of their parts B) parasitic association

C)  symbiotic association D) " all of these.



27 ZOoUG
68. @iy aldlssamsat. Siniy alfls ssaisn odlefliug eedug
A)  2.07& @ddE B) wssaGlerems e
Cl  seadlput Qurss eeaonemdans D) @eralmsd aldlan.
The increase in percentage ratio of natality over mortality is called
A) vital index R) population density
C) total count of individuals D}’ errtility rate.
69. eflures snpeoons CarbGad
L. 2_6fr @eriGlLImESHD LD GamUL
1. GQerbablears puras Genesieug 26 @eTlGUG&HHD
L. o sff @enlGlumebsnd Gapaura & HubHSl

V. odlasb 2eien greyb GaraimGueaiuams Qe Grenl WHmnb

OB 6oL SeuliL.

Blevopyer
Al lTwul @b sflurearg B)  lwpogio NI sflurereeu
C) L Il wpmre I sflureren e D). yeoeHad sfurarae.

Consider the following statements :
L. Inbreeding causes loss of vigour.
I.  Malting of unrelated individual is called inbreeding.
III.  Inbreeding results in low yield.

IV. Mendel carried oul inbreeding between tall and dwarf plants to prove

law of dominance.

Of these
A) | alone is correct B\I I and III are correct
C) 1, Il and III are correct D)  All of these.
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70.

71.

Spderamusuhme, ag eflura’ Qur@pssiu Heterg 7

A)  eaoleull e —  uredler ser@Ulgiy uflcommod GCarum@
B) Gaméaulll — Sy

Q) SO It etT —  seuemey Llawge

D)  arflgpesiieu — Qusss Wiey.

Which one of the following is correctly matched ?

A) Landsteiner — Guantitative theory of sex determination
B) Goldschmidt — PCR

C}«/Stem — Crossing over

D) Kary Mullis — Blood group.

QY QanPasuuleier aflurdlasile puhesaon deit nrhpsdleaime weflsis

ghu@o aSwurdleen sranel ?
I ameong ki eflest Gamrhiwm
. sraslurdifur
N gy sdlel weugeor geu Gymdl

IV. Ueneoicy &UQLmibly flur.

Blevppyst
A} L N wbmd 1 sflurarenes B)
C)  Hwbpw IV sflurerene D)

Consider the {ollowing statements :
I. Huntington's Chorea
II. Galactosernia
Ill.  Duchenne muscular dystrophy

IV.  Phenylketonuria.

1. 11 opmod 1V sfurarae

[ opmun 1T sflwurereseu.

Those attributed to recessive mutations in human beings include

A} L 1land Il B}

) I and IV D)

620
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73.

74

29 zZouaG

sflwren Qerpprcord Gafhbls@

A) O @rssauems walga A, ‘B opnn ‘AB @réseims wellgailb Ginhal
@rssin Glumerd.

B) B @uésauems waliged O whmibd ‘A Grseuams balsmse @UHsh syerb

C)  AQussesms pallgas I3 nhnw 'AB @réseume welaafiLD @ubhs Gresn
QumeuTD.

D) 'AB @uéseuems wallgss 'O AL B ubpn AB @réseuams wailgailb
Biwbe @ésh QupaTd.

Select the right statement :

A) O blood group man can receive bleood from 'A’, 'B 'and 'Af3".

13) B blood group man can give blood to 'O" and 'A".

C) A blood group man can receive blood from 'B'and 'AB".

D). AB blood group man can receive blood from 'O, ‘A", ‘B’ and 'AB".

weflger wasdle My GiBSs6 GOILSIGLE

A) uré sulfl s HmIb LTy

B) X @CyrGurGamn QJE& HL HGID LG

C) Lmew HLHULESSID LIGSTTL

D)  @eubner egmeubléenen.

‘Beard in man’ represents

A) Sex linked character B) X linked character

Ay éex limited character D)  None of these.

(b LTedlenly @)y «sorHeusns GeliCEHe Cledaamer o hugssh Ceuseile GLw

Al CanrCurGsibly & B CuGemlsliligé

C)  eouGslllys D) Qean fCyrCabl g é.

Sex which can produce two types of gamete is called as

A) Homogametic B) Monogametic
Q) Bigametic ‘ D)t "/H/eterogametic.

Lﬁ_gﬁ_(") A [ Turm over
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75.

76.

77.

78.

awanyfl Quas pimssbed GLbuyfl 9o BiosHEGD @Gms_@m Mg =HTE
ghulLirdg, F | senepennulés 2. (heurmeug

A)  @riogfl gEenw pdes wlHid

B) eueidyfl ghoLw psemg wl Gb

C)  @uroyfl wboin euebyfl GHeoLw psams 1 1 aldlsb

D) @iyl vhmn eyl ghorw pgame 3 1 1 aldlsib.

In a cross of dextral female snail with sinistral male. the F | progeny will be
A) qnly sinister shelled snail

BNV :)nly dextral shelled snatil

C) sinister and dextral shelled snail in 1 : | ratio

D)  sinister and dextral shelled sﬁail in 3 : 1 ratio.

4O mafléan Clareranaenu wpHedley ssdiueurt

A)  dgresdlev emeuebt B)  aorig-Geudleié

C)  Pyemuié D) deucs ey,

The coneept of Eugenics was postulated by

A)\/. Francis Galton B)  Hardy-Weinberg

C) Nirenberg D) Sewal Wright.
FpoaeoTLeuDmyel e1g Y-8MThe WILOILGTLY 7

A Ppéend B) @nesd

C) 2 epum gebreow D) upl ysdlller sem lpo.

Among the following avhich one is an example of Y-linked character ?
A) Colour blindness B) Haemophilia
C)  Eye colour in Drosophila D} Hypertrichosis.

Fpasaoil GIeHs aumasdld @bdu vasela Blsad flsras sramiubb Gres

QDS TG ?

A) A~ B) B*Y

C) ot D) AB- .

Among the blood groups of Indian population which blood group is a rare one ?
A) A~ B) BT

C) OF D?//}MB‘.
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80.

81.

82.

31 Z0UG
Qeé spuupmen Garlume g Carhmyelsseur wrf 2
A) Oisndels whnh Guit ety B) @IreoIT
C) umeShwn e D) waireesd wHOID Hiyeiui .
Who proposed Lac operon hypothesis 7
A)\/Jacob and Monad B) Khorana
C) Balbiani D) Morgan and Nirenberg.
v BreuTd e allemidles 2 efer Nememiing Qar@lisen é0admalen 2 6o

phenemby  eores G stleorear GGrTGorEGsrbaende swwre @UHeEGD' -

@) Bamhenms sadlweur wri ?
A) SV TR UIGTTT L B) QGulsen
C) g e D) (DT IT a0t .

“The linkage groups in an animal or plant are equal to the haploid number of

chromosomes present in its cell.” Who told this staterment ?

A) S_turlevanl B) Bateson

C)'  Sutton D) Morgan.

GL6 uGHe Gefleaaiu L 2 aoaler Guwr

A) &G B) Gumrsveh

C) &b D) @eubnen eaeaydlaens.
The digested food in the intestine is called as

AP Eihylc B} Bolus

C) Chyme D)  None of these.

Qrssd eugsL B Hlopey heGlupbd GL-b

A)  Olamsiievsy aumera; B) Gueé gnib @prd

C)  Ffipigb @ D) GuenGueitev Calisuyyev.
Filtration of blood takes place in

A) Henle's loop B) A?,cending limb

C)  Descending limb D] Bowmann's Capsule.
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83.

84,

85.

Q55D 2 eDHFSHS @gmmﬁu@ﬂo &Iy eottieened 6 etorensh frem s
A) 10 B) 12

C) 13 D)) 15.

The number of faclors responsible {or blood clotting is

A 10 B 12

Q) 13 D) 15.

eusn LG el Heutugmelle G @hg Slemeunrasend, @Garmay® el
Serreuonallés @mheg deudiugmeys@n GLuGuurédl oem_ge

A) Gumder ellemanay B) gy dellmed sl g
C) anTeCL e allemerey D) Gamibuier blapey.

The movement of bicarbonate ion from erythrocyte to plasma and chloride ion

from plasma to erythrocyte is called

Al Bohr effect B) Oxygen transport

C)  Haldane effect ' ») i—.lamburger phenomenon.

utigwer I oo uliquén IT 2 L eflurad Qurgadls &pé enull perar @dliGse e
vy Oa sflurar alloawug Carey Qels :

L gwé LCiqwés I

a) Ig G epeudanm) ereml 1. 1.60.000
b}  Ig A epevdoamy eremi 2. 1,50,000
c]  1g M rpeudsan) eTenL 3. 1,80.000
d} Ig D epevbanmy ereni 4, 1,90.000

B 1 2 3 4
c) 3 4 1 2
D" 2 i 4 3
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ZoUuG

Match List I correctly with List II and select your answer using the codes given

below :

a)
b}
c)

d)

Codes :

A)
B)
C)

D)

3

2

List I

ig G molecular weight

Ig A molecular weight

Ig M molecular weight

Ig D molecular weight

4

1

1

4

2

3.

List I1
1. 1.60,000
2. 1.50.000
3. 1.80,000

4, 1,90.000

uguwe I g ulgué II 2 Ler sflural QuIrGsdls &ps @Rl Gerer @l aeen

g liuenL e sflurer el mwg Coiey Clews :

uligwe I

VDRL Gargenes

erellar Gamgemen

el _6 Gargeneot

Garblev @amgeme

a)
b)
c)
d)
GolGser :
a
A) 3
B 4’
o2
D) 1

| 620]

uligwen II
eTiiL”. efu
glieleny
<61 Rh gy emqumyg

LTI STih&aen.
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Maich List I correctly with List II and select your answer using the codes given

below :
List I ‘ List IT
a) VDRL test 1. AIDS
D) ELISA lest 2. Syphilis
¢)  Widal Lest 3. Anti Rh antibodies
d) Coomb's test 4. Typhoid fever.
Codes :

Al 3 4 2 1
B} 4 3 1 2
c 2 1 4 3
D) 1 2 3 4.
87. &pésaorsubniem agy aelu Lysd ?
A Blysdeflen B)  abevGimedr
C) by éled D) Gséler.

Among the lollowing which one is simple protein ?

A)  Nuclein B~ Histone
C) Mucin D)  Casein.

88. d&pssaoiL.eupmier g i fla Qemupiy sublebd 7
Al urefllgs udleud B) Gaufie opfleud
C)  dflsugsd oubeud D) eells yflevid.
Among the following which one is an unsaturated fatty acid ?
A) Palmitic acid B)  Capric acid

C) Myristic acid MOleic acid.

| 620 |
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35 Z0UG
efla'pé;&,afmu_sugb@eﬁ T8 (PHS UvannIULHEhL_ast Glemi_mLemiwg) ?
A) SHQesrieny &miGumGladosty B) owréopdr Glgasen
C) urdleNwss arrGurGlseven D) &G f Qadaer.

Which one of the following is related to pressure receptors ?

A) Meissner's Corpuscles B) Amacrine cells
~
C)V” Pacinian Corpuscles D)  Gustatory cells.

sgeout Hevhe 2NCam oflagenss sreas

A)  Geuedletr B) Qs

C) eadler D) HsslGurememes .
Identify the sulphur eontaining amino acid.

A) Valine B) Serine

C) Lysine D}t ~“Methionine.
CeulusEE GURGUHSED WD @)kE &Teotiuiin

A) Qe fGlugeuDd B) LwerQsuesren
C) Seest Qsueumest D)  @anCurgeuroe.
Thermoregulatory centre is found in

A) Cerebellum ' B)  Diencephalon
C) Mesencephalon D}' ' {Hypotha]amus.
FlenenGeamanett eretiug ep(b

A} wrGanr@esheemy _ B) e Gessomrl
C)  urellGasaeny D)  yysb.

Glycogen is a

A) Monosaccharide B) Disaccharide

-

c)™ ' Polysaccharide D) Protein.

EEQJ [ Tum over
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93.

94.

95.

36

QETHidEslul L suT&dluhsanets sHeuel:

1.
II.
[11.

anf G @Gen et 6p@ &eouns Hpd
afGur@Gemmiler erever paegdy 2 Wiflsefeud smemiu@io
afCGur@Genm st Grés flauassaiid sreamiuiind

V.  afGurgGenmien eowGur@lenmles sugalde pansuioud @bewb.
Bleumpyer
A) [l G sflureg - B)  loppd I sflurerena
C) I, I wbmd I eflurerene D} seweansgud eflureareney.

Consider the following statements :

L.
I1.
HIR

Haemoglobin is a respiralory pigment.
Haemoglobin occurs in all vertebrates,

Haemoglobin is present in the red blood corpuscle.

IV. Haemoglobin is also present in muscles but in the form o-f myoglobin.
Of these
A) I alone is correct B) I and II are correct
C) L Il and lI are correct D}*’/All are correct.

seamsseiid sreoiu@nd sfludlearyaler Gadfley oy &ed anfGureCarrilafia Eunhal

<y &eallsetr alGeallugheE Guuwr,

Al Gur eflanerey B) uri efleveney

C) Q , wTHOE D)  CO, wmhpib.

CO , concentration in the tissue helps to unload O, from oxyhaemoglobin due to

A)'\’ '.Bohr effect B) Babhr effect

C) O, shift D} CO, shift.
Ay o et erhat ugd Cualarransl. annmiGuoreanea &ré&HHns.

A)  peTHgIYy B)  dpsgiy

C) pO&sHsIL D) Gumert &giy.

Which part of pituttary is secreting Melanocyte stimulating hormone ?
A) ,Anterior lobe B) Posterior lobe

C, Intermediate lobe D) Polar lobe.
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37 ZOUG

wesllBeiley @GenTapenevey HPSSD eTeielene] EUBSHGSD 2

A)

C)

50 mm g B) 60 mm Hg

70 mm Hg D) 80 mm Hg.

In man the pressure in the glomerules is about

A)

Cjv

50 mm Iy B) 60 mm g

70 mm Hg - D) 80 mm Hg.

@dles a1y ADH evw s sdleiimg; 2

A)

C)

2w e aamn@uiramudid B)  aanCuraudld

umrrety @)sdtL g wr D} eanGurgenwe.

ADH is scereted in

A)

C)

Adenohypoephysis B) Hypophysis

Pars intermedia D} _ Hypothalamus.

apésraneunnen, erg sflurs’ QuTmpssil Qeteng 2

)

. B}

C)

D)

Gesmaurer engImii Glgwdur@ —  Hnfred a6
Gemnene GuITengymif ©8weuurd — Qe
Sidlenrer egrrif Glawhurd —  iflgefien
Siglaomer GugTengmi@ - amii.

Which one of the following is correctly matched ?

A) Hypo-function of thyroid —  Kidney stone
B)V/r}-{ypoiunction of parathyroid —  Tetany

C) Hy[r:yer—function of thyroid —  Cretinism

D) Hyper-function of parathyroid —  Goitre.

alluremey el (pddlu ebubsb ag 2

A)
B)
C}

D)

Cairedléy FyHeesemn UM ST He6

o Linfé Qeuubleneeny 6 (LHGUDSEIBHE

o 1 iddlgyeien gydlewre By QeuefllGuibnise

Gamedlgyerer uméefluranald Camesyse.
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100.

101.

Sweat glands are primarily concerned with
A keeping skin moist \
B]\/regulation of body tempefature
C) removal of excess of water {rom body
D)  killing bacteria {rom skin.
aleugiseer ufidfallgg sfluTar el ows Caiey Qew:
Curengds dlrcusamnasd sréss Gloleug
L BlyGrr Qesdlflfl Qe
. wriy &yod
[I.  e&eoL Games

IV,  a&sallwé syl

Beuppier
A) [l (Kb &rﬂu_irrsmg,j ) B) 1 whHnid I afhwrm eot e 6w I
C) L I whod HI sfurenemear D)  sewarsEin efluraraney.

Consider the following statements and select the correct answer :

Molting fluid is the secretion of
I. Neurosecretory cells
[I.  Thoracic gland
[lI.  Ecdysone

V.  Exuvial gland.

Of these

/'/ .
A) [ alone is correct By I and Il are correct )
C) I. II and III are correct D) All are correct.

HEOOT LTS GHTevoIg

A) 2 id greong B)  @ulgpmes Qaumedlé gressig

C)  yfser Gleureds gmetony D)  @eubmuet ergaublcaney.

Eye development is induced by

A) Trunk inductor B) Duterencephalic inductor

Cr Archencephalic inductor D) None of these.
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geuenenles gy U Caevgmevt Hleneculles, By iveenetayma @@uugj
A) Gy dlyervesor B)  amirCursGeroLib
C) Gué 280 D) @eubmei areneuybléemen.
In early gastrula of {frog, the organiser is

Grey crescent B) Chordomesoderm
@/ Dorsal lip D) None of these.
GODHS Deney Hheyeey ClerenL e gdler Gluwi
Al gedlese yetiD B) Cuslrmedlpse gewmib
C) ow&alrmrGadlsse et b D) weCarbewdlged et ib.
If the egg contains a small amount of yolk it is called
A)  Alecithal egg B)  Macrolecithal egg
C}* ‘Microlecitha] egg D)  Telolecithal egg.
Sy bselursee Remmav@eorailest G
A) Qe Nenmevievr B} gevGarSenmevBeor
C)  NemmenGmdleo D}  SenmmenBLr@Lib.
in ambhioxus. the blastula is called
Aﬁv éoe]oblastu]a B) Discoblastula
C) Blastocyst D) Blastoderm.
srrCLrlGerGLmflen et ugdldler Gluwri
A) HEE HIETTLG L&
B} FU0T UGN
C)  eor(heuL-euTed G eaomigwiéeh
D) 216 grevtngqubdl.
The anterior part of the chordomesoderm is called
A}- ‘ Head inductor B) Optic vesicles

C) Spinocaudal inductor D)  Trank inductor.
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106. sl oyrgdlan (Ll el Wiey Géveur s UL cutb
A) S (HeYDIULIL D
B) emeul_L euled Ui 6ulD
C) @&:LQ_CBLG\S]TEJ LI 6ulD
D) eveul L ebledT Lieud |ODMID SH(HeYMIs LI suib.
In Seaurchin egg there is no
A) Fertilization membrane
B) Vilelline membrane
@i g Nictitating membrane
D} Both Vitelline and Fertilization membrane.
107. alldleuenyui_usei SpasesoiLeupen flbgGarerudlen wpdlu Ltk Qe atorRenenes.
A 2 mlurdsd B}  cpaupée 5@&(35;rrerrrréaaali)
C) Gurues. smHEGHTENTHESD D)  mremmée.
The fate maps have very significant value in understanding
ANV Organogenesis B) Gastrulation
C) Blastulation D)  Tubulation.

108. Gerflles &m eeniédlliev Copreaimbd SHEGPULRGS 2 (HeurT@b &flwume

aufleewensd sam@ily.

A) sme. cooteylieni), Gamluresr, evestLmiiehy, oybeTlwr e
B) smeameylenu, Sybeflwmet, Gamfliwmet, oyevermisu
C)  sGraualieou, syeatirien, ybeflure, Gamflure
‘D) Carflwmesr, syevesL mibew, SbellwTedT, S(h2_ cooTal L.

During the development of chick embryo four extra embryonic membranes are

formed. Identify the correct sequence of their formation.
A) ‘_{olk sac, Chorion, Allantois, Amnion
B}' : Yolk sac, Amnion, Chorion, Allantois
C) Yolk sac, Allantois. Amnion, Chorion

D) Chorion, Allantois, Amnion, Yolk sac.
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110.

112,

41 Z0U0G

@EWD eueT T AUEHLEUS ..o D&l mHiba .
A 60 HB6G Bl up (66
C) o2 &Tenpég D)  @eubmer ergeydleveney.
Heart development is {rom
-~
A‘)\/ Mesoderm B) Ectoderm
C} Endoderm D}  None of these.

Sleteumeussteubmblés sfural Qurmpdlysiens; erg

A) oy beflure —  dlewrer & peoguye
B)  wEhset &@m el — s@leworer sk S
C)  gyeverLmuflen — Qeupeos Bisd Gerh

D) Gerflures —  &eureb HemL Gupblib.

Which one of the following is correctly matched ?

A) Amnion — Extra embryonic lung

B) Yolk sac — Extra embryonic intestine
C)  Allantois —  Artificial swimming pool
Dwv" Chorion —  Site of respiration.

. @weussiles ey en Claet..Crrladlggd Wl e & 2 STyamD.

A) @@surrgosﬁa,sﬁ B) DEX [T 611 6DT
C)  upemeussen D) yédlmef.
Of these, which one is an example of centrolecithal egg ?
A) Amphibians B) Rf_cf_ptiles
C) Birds DY insects.

Nenmeu@eorallés sreou@n @fldler Quut wrg 2

A)  fGeor Slemmerv®our B) NemreuBLrden
C)  Caevl Gyreuravgeor @yl D) evuregdlGurden.
Name the Cavity present in the blastula.

A) Coeléblastula B)’ ' Elastocoel

C) Gastro vascular cavity D)  Spongocoel.
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113.

114.

1156.

116.

wpEGLUD 2 Lpaafldlpha ety dlaallda wpad Qaridles Gamag @msen
ST s dlhE Quuwi

A)  5Gemeur b B) SGsrgyighlun

C)  SCySlwen urellédlen D) Qeidlere efgediub.

Ovary suspended from the dorsal body wall by a connective tissue membrane is
called as '

Al ‘Mesovarium B) Mesorchium

C) Graaffian follicle D) Germinal epithelium.
GleliQumSHs Qeassile asduasura GBrrBurGari et bana arawsILHD ?
A) @iT e LiueL B) shemplienc

C) LeulLremL D) HITESTLIEL .

Nature of chromosomal number in gamate is

Al Diploid By Haploid

C)  Polyploid D)  Tetraploid.
seupre qetennd CahllsHésayD.

A) iy ev Gevasiiy e — et

B)  arlgelenfl Qevemiiyp e — Uu&

C) Garend Geewiiy de — e

D)  gevarié @enewoiiiy $ler —  mr.

0Odd one out

A) Diffuse placenta —  Pig

B) Cotyledonary placenta —  Cow

Cj Zonary placenta — Cat

DY Discoidal placenta —  Dog.

weflgeiley emeoiu@n Gememsiiy e suens

A)  quNgNBunGeamflue B) afCurCamflus

C) SeanGieu@orBamilue D}  a&GLrgelCurGeamrflue.
Which type of placenta present in human being ?

A)  Epitheliochorial B Hemochorial

C}  Syndesmochorial D) Endotheliochorial.
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118.

116,

120.

121.

43 ZouG
Spha_supnen ahs empuL_eb smalmear fliéddadmba urgerédng
A) i besflwes B} Garfluran
C)  amleoLu D) euebrmulle.

Which of the following Foetal Membrane protects the embryo from mechanical
shock ? '

AV  Amnion B) Chorion
C) Yolk sac D) Allantois.

areleumswren err@seiin weflgelld sreamiu@ding 2

A) g STy B) 34,6511 19 6VGHMLL 6
C)  eoLgeusTi 6 D)  @eubmel agiaubléamen.
In man which type of placenta is seen ?

A Discoidal B} Antidiscoidal

C) Bidiscoidal - D) None of these.
gemaullyL_ el sevoiaeilen sreooniu@D Mol wrg 2

A)  urieuGymudies B}  Gymmudles

C) el GLmgGymbd D) Queefler.

The pi}ment present in the eyes of tadpole is

A~ Porphyropsin B) Rhodopsin

C) Cytochrome D) Melanin.
QuLyGLror @dle 2 oL rdlepa).

A) Gamey B) pri Slesse

C) QurEear Qense D) aeybLmer.
Teratoma develops in

A} Skin B) Fibrous tissues

@)’ ‘ Cells of Morula D) Bones.

a7 ypora gildlés Gehgssrar gls Geulubiame Geunur® GiaraoiL U@l
@it

A)  ev0leSineofium et B}  eanuGumelbesiiwme
C)  OQu_redlbeflumes D) Qeuliu 2{R&semoliy.

The zone which exhibit rapid vertical temperature changes in a deep lake is
called

A) Epilimnion B) Hypolimnion
¢y~ Metalimnion D)  Thermal stratification.
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122. Qe updleow alLé Geflfuugdhle 2 aien LTeyTlgaelar curé, &TgeeT LHIYD

123.

124,

125.

HpH& CUTEND 2 MULSHET GL LTS 2 66T el Snb)eLg
A) yeafld alld) B) Quiéwreafisr ald)
C) &Qemrai alld D) Ggriceaila aldl.

The rule which states that the extremities of mammals like tail, ears and neck
are sh/c)'ter in colder regions than in warmer region is

A\ Allen's rule B) Bergman's rule
C) Gloger's rule D) Jordon's rule.

HEEPTEBT 6T BOTOT SNl UL L. & Snidl| ST ILIHeug)

A)  yoGlsusfl g phlaney et euld B) gfl gphlee weeubd
C) gLpenast o eoeyé smdlel D) @y QemensaD.
The inverted pyramid of number is seen in

A) Grassland ecosystem B)  Lake ecosystem

Cr “Parasitic food chain D) Al of these.

'yedt urgysmiiyg b’ Ghdurale geussiul L gy

A) 1968 B) 1970

C) 1972 D) 1974.

‘Project Tiger' was launched in India in the year :

Al 1968 B) 1970
o 1972 D) 1974,
Spasramiuehoel, ag eflurels QuT®BSsILL Reieng 2
A o fler Garenslié o Merhiger 2 afGemuyd —  UjeBe
QleusflGuuyd @)L b Cwiteug :
Bl @ueo® sgpsrw 2 iliflaer ehdaehb LG — @7 leveney
C) oo obdler Gupas surblb _ —  dComeiyemihd
D) @hssl QurEplasild QBha HueH — L CLmgGrmooliger.

Qur Gl senen 2 pusdl Gelyd elebigs e
Which one of the following is correctly matched ?

A)  In and out movement of population -~ Dispersal
B)  Transition zone between community —  Edge effect
C) _ Natural abode of an organism — Climate
D-)/ Organism converting organic —  Autotrophs

material from inorganic chemicals.
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126. ulgwe I e uliguéd I 2 Lan aflural Qurepsdle &pd edludl Gerer @dld@esfle

g iueL e sflurer alloLowg Caie; Gews :

a)
b)
c)
d)
eBlpeer :
a
A) 4
B3
C) 2
D) 1

uligwes X ucigwes IX

(17 T 65T 6OLIT LDIT &t 1. wmble 2 oeatisar
260GTOT 2. 60T GO0T &5 67 2. se 2 ewieyl L 2 Wiflsef
2 uQurrdliumen 3. miessrgmylfleen
2_husd) Oeleuss 4. 20601 &) ot eool) e

b c d

3 2 3

1 4 2
4 3 a4

2 1 1.

Match List I correctly with List II and select your answer using the codes given

below :
Aa)
b)
c}
d)
Codes :
a
A) 4
Cc) 2
D) 1

List I
Transformer
Carnivore
Consumer
Producers

b c
3 2
1 4
4 3
2 1

List II
1. Predators
2. Autotrophs
3. Microbes
4. Omnivores.
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127.

128.

129.

130.

131

Qe HT(H&EST GHTesiluRbh 2 wijb

A) 3900 15 — 6000 5 B) 1900 5 — 3000 1§

C) 1000 8§ — 1500 & D} 500§ — 10004 .

Alpine forests occur at an altitude of

Ay 3900 m — 6000 m B) 1900 m — 3000 m

C) 1000 m — 1500 m D) 500 m — 1000 m.

Eleoeydlit sr@ser edualls Loy Clametameu 7

A)  ueellg Geneussl B)  &rp Geoeumel 2 e yRGET
C) endu Qs amLw byusst D) uaGan aene wpLOlgy LsTaen.

Deciduous forests have

A) Variety of leaves BY" Broad-leaved trees

C) Narrow-leaved Lrees ' D)  Variety of Thorny Shrubs.
pavoiecmlt LTFLURSHTH b STyes)

A all(s sfleyse B) Qarfipereved &fleysel
C) sl o o1 O\emoTLl D) &unns.

Which one of the following sources is not considered as water pollution ?

A) Domestic sewage B}  Industrial effluents

C) Mineral oils D}~ w.Smog.

sleLurel LHRD yHD 2-L.HELHLHN &TahasT, ufms BID 2 Lelled wEyaen
e el &mesTiul Lré seuheD eshEe, 2 STTaILMHE Q&I aleTeD.

Al SbsIaond B) eshnlyrdens Gumes HTesililL. 6o

C) flyksy slyesw D) cafellet enéareamib.

Insects with flattened and expanded body and limbs. possess yellow spots in
green body suited for

A} Mimicry B) Camouflaging

Cy- "'I(f:oncealing mimicry D) Darwin mimicry.

@ esor(h @)evméanBenssEhédlenL Quushen iRHE erg 7

A) 2 ey ey B) @G&rGLme

C)  uGumdbl D) Qer.

The intermediate zone lying between two adjacent communities is
A)  food web B} ecotone

C) biome D) sere,
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132. dpaaeor_eupmles ergl uTibGariHib gaeumblUS SHSIDG ?

133.

134,

135.

A) &7 &6 @66 em

B)  alijeuvaet @embums wmrmse

C) gmesor 2 Moyser eueisél

D) QeuGumss o plisen 2 sienl hidl HTasliu@ee.

The cursorial adaplation is

A) Disappearance of pinnae

B)

ZOUG

Loss of digits provided with hoof

C}  Development of accessory organs D)} Retention of reproductive organs.

SpHSTEILeUDNET, a8 sNume’ QuTmasiu Geeng) 2

Al ebusdluTent

B) dlevgluumeusen

C)  @ueior b Hlenew myetGeurt
D)  seblee meTGamT
Which one is correctly matched ?
A)  Producer

By~ Decomposer

C) Secondary consumer

D) Primary consumer

&CemmGyryenCnm ariusdisel adléd Bubos elmearalledldaime 2

A) aiflubles eury yemrallé
C)  eopLliyme emajléy

Chlorofluorocarbons pose a danger to
A) CO , level

C) Nitrogen level

B)
D}

B)

D)

Limeseu &haft
L Ehem g
& Haef

S HST eLIThISET .

Birds
Fungi
Insects

Green plants.

2y SHerdlsnedt gjenalles
cpGamest syeralle.

O o level

-

" Ozone level.

@ibdlurelds ‘B wraubss LFaTnd GHoHHeH WHNL S OUURSHSS Fapbd 2 nd

eriGuT gy OsresHeurin L g 2
A) 1972
C) 1976

In India, Prevention and Control of Water Pollution Act was introduced in

A) 1972
C) 1976

620 |

B)
D)

B
D)

1974
1978.

1974
1978.
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136.

137.

138.

&Y QarTHaaiul erer san WatiGb QuDsimgu QEMmaIsTs SHHSIULHILTE
EpeoTDy

A) QuL_Grmes

B  srlgé eurpd 2 wiflanieelr

C) drideaseia auragh 2 Wllarhaer

D) &ST(.

Which s not considered as renewable resources ?

A)\/Petrol B)  wildlife

C) Aquatic life D)  Forests.

afg.p&&,rr@uumrj)gjeﬁ, arg shwmel QuTkssOul Heterg) 2

Al &Quererelsd — 6 ofleobg uvwalund  wpGpream
geviowent. ujib

B) By edlain — o alleke uusiELyd wHEDrETy LwauD,
ﬁﬁmmutb <4EL_LIT ) '

C) Geulemwr@gs — gw  afllong uvuEaTune  wHGnT ey
fenwen o

D) oL pmel eunpheme — @b elleviigaEphd Senwen wib.

Which one is matched correcily ?

A) Cormnmensalism — One animal benefitted and other affected

B) Mutualism — One animal benefilted and other neither

- benefitted nor affected
A" Predation —  One animal get benefitted and other affected
D)  Parasitism — Both animals are affected.

PG GpHlaey e agdld o hne UL b ererug siuCLT(pgID
Al QuanfluuTeng Sdag pmeufliuTos

B)  vLeafliureng

C) uveeunfliureng g HeulliuTag

D] goaupllures.

Flowing of energy in an ectosystem always

A) may be bidirection or unidirection

B) multidirection

may be multidirection or unidirection

DI\/unidirection
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139.

140.

141.

142,

143.

49

2 fifeufle GarlurleL wer@uwribgat

A} UyrerQeevGar Mg B)  euruley umevL

C)  gruil an®é D}  evureugnsedl.
Theog/of Biogenesis was proposed by

AN Francesco Redi B)  Louis Pasteur

C)  Robert Hooke D) Spallanzani.

Lrielled er&.ab.arav. Jdleév suuelles sreCusdu SasEpé@Gl UWEBTD
2|, 60T (N it '

A) 1825 — 1831 B)° 1831 — 1836

C) 1919 — 1925 D) 1939 — 1945.

Darwin visited Galapagos islands in HMS Beagle between the years
A) 1825 — 1831 B} 1831 — 1836

C) 1919 — 1925 D) 1939 — 1945.
Crygqurer odeg CrIGar g Semwohs ellemgl uflanrwsdldar Quuid
A)  euGurignealdlay Bl  &7$Csmgmeiidlen

C) SBLrGQigmefdley : D) urrsésr@gersﬂeﬂe‘m.

Direct or straight line evolution of animals is called

Al Biogenesis B Orthogenesis

C) Paedogenesis D) Pangenesis.

weslgll Liflewrmng e ew@urder aresdlda sraoiu L Heve

A)  syev gCeriigdlecv B) LCegCuriisdlesu

C) CaprGor aGlysi L &v D) yGyrleflGurigdlsmen.
The stage of human evolution found during miocene was

A)  Australopithecus B} | Dryopithecus

C) Homo erectus D)  Propliopithecus.

‘bGuTena’ asaL e QaTL T e g 2

A) G @G B) yGpr GunGemeur
C) QrevshuaT D)  onCurefur,
Ammonites are connected with

A) Echinodermata B) Protozoa

) Mollusca D) Ammonia.

ZOouG

©le s
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144. @Queo® e liraei sy Csbureeiian s geo. Galwd Hepailbe Cuui
A)  Sler wrhinh B) salssd
C) Sav(pn Gemeroay D)  Geunmur®.
The mechanism of any property of two species thal stops them from
interbreeding is called

A) Mutation B}' Isolation
C) Recombination D) Variation,

145. ghere welgeea wesmenL . Gum e Olamsiensmey

A) 1500 c.c. B) 1350 c.c.

C) 1200 c.c. D) 1700 c.c.

The cranial capacity of modern man is

A) 1500 c.c. B} 1350 c.c.

C) 1200 c.c. | D) 1700 c.c.
146. @dlév erg Lpesd surlihgs Luillilue &reubd ?

A QualGurGerumulls B yCrmgGyrGenvmilé

C) feHBurCaumilé D) BSCerGemis.

The oldest Geological era is

A) Palaeoczoic B) Proterozoic

Ch~ -Archaeozolc D) Mesozoic.

147. GarGuor Cetluarseafics Qurgl Guwi eere 1
A) Grgre BL&GL weslige
B) dpdess Qafihe wallgsr
C) oabenanf Coeme Qelyd wetlger
D) ULPRIST 5 g) Lnsciﬂg,a'ﬂ.
Homo sapiens are commonly called as
A) upright walking man BY .lhlnking man
C) handy man D}  old age man.

148. arwriéd gevayentw ufleaomond Carlurlan_ Glemeéedhu eugL. b

A) 1744 B) 1724
C) 1801 D}  1809.
Lamarck put forward his theory of evolulion in the year
A) 1744 B) 1794
C) 1801 Dy 1809.
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150.

151.

51 ZOUuG

et e suesreupmiet Glamiddlupn Geupun H 2- oo wenssd Coiey Gai.

A oeera Gebodiur® B} Qeusiemen st L CrrBamenueur
C) Cadlyr dlamen D) Qoo soargbd.

Which of the following possesses discontinuous variation ?

A)  Ancon sheep B)  White eyed Drosophila

C) Oenothera gigas Iﬁ’ " All of these.

6ot ool LT levmenend et R He 2. 5aeug
L epefl ewwsgravGeany
I erevdlgret enosyravGam)
. gseimaer X-adltae Qaran® Tmyb smadl

V. ugoreThiseen gba Glehse.

Blevopiet
A TolEn eflurerg B)  lwppd I ¢flurerene
C) ST EGID & Thumeoreme D) o @b eflurearg.

Microfossils can be identified by
L. Light microscope
11 Electron microscope
II.  X-ray crysiallographic technique

[V. Sedimentation.

Of these i
A) I alone is correct B "1 and II are correct
C) All are correct D) 111 alone is wrong.

LIGOGUITE GebTamentl allenddlwed wrr 7

A) Gumi® B)  Qanifle
C} B D) Ggiben.

Who defined polymorphism ?

AN~ Tord B) Herrick
C) Neel D) James.
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152.

153.

Qe el @arsaramadle areoiu®n Qwres sfdraeild o ool fans Gl
Quwr

A) sdet1 QBTG

B)  efer Hleplauesor

C)  ofer Qar@iy whnid et BlapGleieton

D) @lemeL et HGID.

Sum total of genes present in a Mendelian population is called

A}v/'—".(}ene pool B)  Gene frequency

C) Gene pool and gene frequency D)  All of these.

uligué T e ulgwé I 2 Len gflural Quressls Sps @il Geren gHluGeefen
2 uuee e sflurar alleL eows Garey Glaws :

uligwen I uligwes II

a)  QuflGuil Lev 1. yew& Ligeud
b) werGearesul ey 2. 2 Wl@meTer Ligeubd
c) oGurensor 3. sanffeuest wHMID LPLLETEUDBIDaTe Gemawriiy 2 If
d gyrdwurie fev 4, SCarCsrilé mym.
GOSpsear -
a b c d
Al 3 2 1 4
BN 2 1 4 3
C) 4 3 2 1
D) i 4 3 2.

Match List I correctly with List II and select your answer using the codes given
below :

List 1 List IT
a) Peripatus 1. Fossil
b) Trilobites 2. Living fossil
c¢) Ammonite 3. Connecting link between reptiles and birds
d) Archyopterus 4. Mesozoic era.
Codes :
a b c d
A) 3 . 2 1 4
BN2 1 4 3
C) 4 3 2 1
D]} 1 4 3 2.
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155.
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53 20UG
Fip&aecor_eupmier ahs 2 Wifleord Cudl urenaeiles araiu@dng
A) o B epeop CHmeInId HTEUTD
B)  eyevige G weon CamaTnd STeurb
C) 24T (R (PHEIGD ST esst LD Hreurb
D) EGUGHEDT
Which of the following organisms is the first to colonize a bare rock ?

A) Annual plant B) Biennial plant

C) Perennial plant DM Lichen.

2 pay pempysien GleogCsreamasar Gy yalliurile swers arpallwrss
Qeman () aurpbGurg abs wandle o Abdlab Garamdng 1

Al GerGulfa Hipdles oy &ab B)  #ldGuiflé fipdlen bbb
C) GameiLbd dlpdles gyéhed | , D)  GuprCulfié e @&,

Related populations occupying side by side in the same geographical area
produced a new species through

A) Allopatric speciation M /-Sympalric speciation
C) Quantum speciation D}  Parapatric speciation.
@lemeusaiicy g spetim eréafldbans GuTelldhE 2 sryesrn 7

A eouedub B) Guorenmié

C)  GeuvmSwer D) dleog.

Which of the [ollowing is an example of waming mimicry ?

A) Phyllium B) Monarch
C)  Lophius D}’/Krajl.

g bliles 2wl GerHon' eregud Lep QUDD Ussaseng e (pdiusurt
A) Lrirallen B) um&ev

C)  spurler Dl yGp.

The author of the classic work, 'The Oﬁgin of Life on Earth' is
A} Darwin B} Fox

.
Cy Oparin D) Urey.
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158. dlyriigsé aebysen @dler smemiu@in

159.

160.

161.

162.

A)  upr B) il udved
C)  seusvenlest geoanilin_en. D} uD&@D Webi.

Pneumatic bones are found in

A Pigeon B}  House lizard

C)  Tadpole of frog D} Flying fish.
afeviigaeflear anrGamenuwmiigé ureudy eleufliugy

A)  paeli eumfll b B} &L surflid

C) o surnflb D) yellllwe uFeus.
Holobiotic distribution of animals deals with

A)  Fresh-water realm B Marine realm

C)  Terrestrial reaim ' D)  Geological distribution.

GlgrL_Frubhm UTeuemeéd GeTeE UD&HGD Slnainhn upaeusailcy & eoriufuame

A)  epery Gulleshgen B} mreng Guflehisen

C) ebha Guilariser D) e Cullerfiser.

Flightless birds which exhibil discontinuous distribution is represented by
A) Three Genera B)  Four Genera

Q) - Five Genera D)  Six Genera.

FHEHeUELUILL LFeSHedledl SiTyeminm s 2 (Hem s

A)  @alu ufismmob B)  emwsBrr uflesmisn

C) Cu&a@rm uflewrmob D) @ememors uMleasnob.

Adaptive radiation is responsible for

A) Convergent evolution B)  Micro-evolution

0% i\/lacro~evolution D)  Parallel evolution.

mesieolll euT)p WebTamem @)eveomemiy, 2eredl 2 coolemll el @veurenie, Gleumaann e
GHHBID sTWE UDaGET BHSeHe LHND LDGEs Quers ysdser ufcombdlshse
Bumesipemey Ulebl suheusst eLbryel o He51 LietorL| ?

Al QuEBsL& deysel B] sl sseyma

C) oduLiss alo@se D) aaoLsHIE.

Absence ol freshwaler fishes. absence of carnivorous animals. birds with white or
dark shades and evolution of flightless insects are characteristics of

A Oceanic islands B}  Continental islands

C) Continental drift D) Continental shelf.
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164.

165.

166.

167.

55 ZoUG

SjLmiigsu Gy Gueystt (Adaplive radiation) erestn e Gemgenwud eeorHUIG Seeur

A) @ evumie B) Lrielen

C) emommé D) @euraeflés eraumblar.
The Le;n ‘Adaptive radiation’ was coined by

A‘}«"’/Osbom B} Darwin

C) Lamarck D) None of them.

2 Gemawhn ey

A)  Guifledhwbd B} Grguwb

C)  wreliieesid D)  Hedlssm.

Non-melallic mineral is

A) Beryllium B) Radium

Q) Molybdenum. U}/Si]ica.

curesiuedt Cam@. ehs @m ek yaluugila Gareagaal Uiflsdpg 2
A) el e s wHnb HCLT TG &

B) HBurgrriéses wHnD o &&GWTIlwues

C)  eflucod whmn o svdlCryeduss

D)  esdGumindiwes whpibd @rﬂUJGO'U(-LG\). |

Wallace's line separates which of the following Zoogeographical relams ?

A) Palaearctic and Nearctic B)  Neotropical and Ethiopian
CN~ Oriental and Australian D)  Ethiopian and Oriental.
e flésaet ahg e allovkig Lalllue erihbgsg ?

A gfluas_é B)  easdGuridluer

C)  dGumgrrilsee D) Blursgyréigs.

Ostriches belong to which Zoogeographical realm ?

A) Oriental Ethiopian

C) Neotropical : - D}  Nearctic.

aflewiig Lall-euemruprieou paeile GgNalisgeur

A) dlemmr L B) an&élell
C) sUTeuH D) gpLLb.
Zoogef)graphic regions were first introduced by

A ~ Clater B) Huxley
C) Wallace D) Odum.
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168. mienmuires a_sien Weiser emGadard uyaldpsdng

169.

170.

A HGumyrmis @) hsefle

B)  asdCurdlus @) hsefld

C)  HGurgynilé wpnbd easHCuriluss GLkeeiie

D) @rﬂu_raé'rL_G'\J @l_réd&mﬂé\).

Lung Fishes are distributed in

A) Neolropic region B) Ethiopian region

C, /Neotropic and Ethiopian regions D]  Oriental region.

afleukigasi |1 apumasd SHS@D (phalunTan STyes

A) ueiLL euld

Bl Q6 simea

C) @ wynpse

D) upds’ udliu whnid wror 2_snalb.

The prime factor which hinders normal distribution of animals is

A) Glacial relics B}  Bipolarity

('N/Barricrs ) Home range and sedentary habilt.
S p&Hoatoll eun hdlukisenend Heued

sadmy (A D Sjeoredlm b Sy CrmELTmeney GuflurLev Gevemsdng.
siyeoond (R gleneaie @dle @@ amuansdlaen w LeELseT srauIubéng.
£ GarPésiul Gerer GOUResT apeubd sflurar el aus CaiboleHés :

A) (A) afl, oyemmey (R) souny

B) (A) geun, yemme (R) aifl.

C)  (A) whnp (R) Greserin st Cueun (R) stesiug (A) @lhe eflumes alenéabn

D} (A) wihmb (R) @reom @ efl, Coaund (R) aratug (A) ellheg sflurer alenéaineven
Consider the following statements :

Assertion (/) . Peripatus is a connecting link between Annelida and Arthropoda.
Reason (R} : Because il has both phylum characters.

Now select your answer according to the coding scheme given below :

A) (A) is true, bul (R} is false

B\)\/ﬁ)is false. but (R) is true
C Both (A) and (R) are true and (R} is the correct explanation of (A)

D) Both (A} and (R} are true, but (K} is not the correct explanation of (A).
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“171. eue @uflsarals aremiu@GD DN ey afleiidlain @bl ag 2

A)  euCurei B) Quméemef

C) Garmweor D) @ eartHaib.
The marsupial found in North America is

A Opossurm B3) Bandicoot

C) Koala 19))] All of these.

172, Ll SILGéomalssilar apgrangur Gible erg 2
Al uliflés ALEsemallsen
B) < dlu AL ps@malsen
C)  oyevdlCrellur §Gs Gmalsen
D) 20wflss S Gesmalss.

Among the following which one is the ancestor of Darwin's finches ?

A) African finches B) Asian finches
C)  Australian finches 8)—American finches.

173. Guedlgy iy diey sraiiu@in alemdlarmbsel oams cpoba STem L L ?
A ghdly ellendleksea B Byl elendlehsen
C) du allevidleihsen D)  BCuryCrniifls efevhelen e
Palaearctic fauna exhibits close affinities with
A) Tundra fauna B\/Ne_arctic fauna
C) Asian fauna D) Neotropic {fauna.

174. wrbled 2 aorambd (paOaeubllaer emhig &Teoliu@eudldsme 7
A) Geururaey &eyssile B) @@mrrecﬂé; geysaile
C) grw. Ganslarmaley D) wLsmeveilé.
Carnivorous mammals are absent in
A}  Galapagos Islands B\)/"'fageanic Island
C) St. Helena D) Madagascar.

175. sham(m sreaoruLfels)

A) o $lwr B)  ye@mLrfger
C) oy s B Crreblwrm D) solfsesT.
Kangaroo is found in _

A) Asia ' B} Antarclica
e\ Australia D)  Africa.
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176.

177,

178.

179.

G QLT & Hleowd &l QUUESIBe LHIID m_‘ﬂeuréj@&aﬂ.m LITEUey eTeTU)
A @Luuuwiéd B)  upeymev

C)  s@éEbh sryafesh D) aryasiisen.

Control of migration and dispersal of animals are called

A) migration B) dispersion

CMN-" barricrs D) faclors.

vevgydiflaenent: uTgaTEGD Gubensdls cusmhsemensd Qarean® auflosuBesab.

A)  aL&. sr@ssl, pelsen. aanGlemil whnb Heeflb euenhssh
B)  sr@ser, pdlaer, L6, aenGlanil whHnid &elln aueThs el
C)  er(eel, a6, hElHen, aemGlamu wHnd selle euethger
D) L6, phlser, srReer, el LHnKD ST eUaTRSS.

Identify the correct order of Natural Resources which conserve biodiversity ?
A}~ Ocean. Foresl, Rivers. Oil and Minerals

B) Forest. Rivers, Ocean, Oil and Minerals

C) Forest, Ocean., Rivers, Oil and Minerals

D)  Ocean. Rivers. Foresi. Oil and Minerals.

ev@eavr CeormiSlweiv @)edr Qe (Revery ety g Qainyb U &8 aansd sTHGHDE 2
A Qpe B)  umss

C) eagbléams D) yesoe.

Schoenobius incertulas is a pest of

Ay I;addy B) Cotton

C) Citrus D) Tobacc;o.

HAGwsev GlovdHCeufluey erguin y&éldlesr Gurgieuren Quwrm

A} Lgsel Ques B) GQeusiell e

C} @LmLugéeﬂ D @eall.

The common name of Cimex lectularius is

A) Book louse B) Silver fish

C)  Bed bug D) Wasp.
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181.

182.

h9 ZouG
& &6 0oL emeumene) 2. L HHUUL [ 6usme e1gl ?
A)  efl L@ B)  weT ul@
C) weGuf L@ D) _esri Ul (.
Which one of the following is superior quality silk ?
A) Eri silk B) Muga silk
)™ Mulberry silk D) Tasar silk.
Copar arevafllles CGeumesargs Caertédbael ereiume
A} HEADTH JHTTLEHIG GIBHS 2 (HEITE 2y G
B) a@ahn o HEle @UBhEl 2 (heuTes oy 60 el
C) HHYDTSH HDTLSHHleo @YBHE 2 (Heuren Gt ser
D)  smeybn EnLssle @mha 2 heure Quesn e .
In honey-bee colony. the worker bees are
A) males formed from unfertilized eggs
B)  males formed from fertilized eggs
C) females formed from unfertilized eggs
Df‘* g females formed from fertilized eggs.
@hduralé Ul Huysd aenis@nd elleusmilaende wpedunTe eflébaluEib el
Ay esrd) o Hleneveuan] auenisg ClemHsse
B) @opaura alaas@ weablufl prbn Cer®Hsse
C) uwlpé eowwd epevid LBIHE 2eflssd
D) & ENMDEUIT 68T oﬁlmmuﬂsﬁ UERO Y suemilugh@d GCHEmeUTen & geor kel
LT
The prime facility available for sericulture farmers in India is
&, 7 ’ §upp1y of chawki worms
B) supply of mulberry saplings at subsidiary rate
C)  opening of demonstration cum training centres

D)  supply of rearing appliances at subsidiary rate.
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183. ofle eenalles Heand LubH&agw LHND Plésdamqu yidl cuflae arg

A)  GareblwuroGlgmr B)  eavan@uwenmiGl i
C) GelLrou@ugr D)y gL,

The prime beneficial and destructive insect falls under the order
A) Coleoptera B) Hymenoplera
Y Lepidoptera : D)  Diptera.

184. b umréy euenilléy LWETLRSSULED Wbt Geod @)blév ergy 2
A) &G0 B} Gurg
Q) WOt & meorr D) Sl Qaeroremi .
Which one of the following ts used in monosex culture practices ?
A) Catla 13) Rohu
C)  Mrigala D} Tilapia.

185, “dléo gn» Grremw 2 amLréed 2 0Ifl Gldlé g 2

A) @@L mGwmestmen B) eowlsrarsseu
C) MGurr smeuryeiv D) wgdQuw Cr@.
‘Gill rot’ disease is caused by

A) Pseudomonas B}x ~ Myxococcus
C} Reovirus D) Trematode.

186. (p&&GIGT L wfbh eusTiHedles QT eresest 2

A) L@yl eueniiiy B}  Gorfl euenitiy
Q) GamiL it euerii D) Caall cuerriuy.
Cultivation of mulberry is termed as i

A) Sericullure ' B}”f M oriculture
C) Horticullure - D}  Apiculure.

187. yédlllemseilall®mha GupLULT s QuT®er
A)  Gaer B} UL mETe @eop
C)  Srée wHnb smwid D) umsdl.
Which one of the following is not produced by insects ?
A) Honey B)  Silk thread
C)  Shellac and dye By~ Cotton.

620



188.

183.

190.

61 ZOUG
Beuly enwin' aphg Usddlen 2 welledphe sy HesuLEdng 2
A)  Ques onsel yssl B)  euedor LUy édl
C) Qe ul Qg ést D) Gues geral.
‘Red dye’ is extracted from the body of

AV female lac insects B) male silk moth

C) fernale silk moth D) fernale wasps.

@bduralle Qurettary allbuarsrésrs cerTdaiu@n. ddlu 2@ arw Gz

&g ?
A) giileru (Q)eodrig eir B)  gdlsv Goevellobiarm
C)  gdiv soyGemm@y DY adlev LriGegLr.

The small-sized honeybee which is employed for commercial bee-keeping in

India is
Al i Apts indica B)  Apis mellifera
C)  Apis florae D)  Apis dorsata.

ulgwéd I 2 sien ysdlerdallsment uligué I 6 2 sien Coudludy setenn 2 L6
sflural QuIpsds Spé @Bl @eisr ildfseliar sgiuaLda &flure
e eows Caiey Glele

uliqueo I uliguwer IX
a)  oéugifla 1. Spslus coullsyrn@
bl  Qeusireureu@rl 2. anmruBul
¢} urgTgwTen 3. ©CarMGea Gl ewanl Gy eriuds
d)  pegsrin 4. oieGearmureuGul.
Gouhsern
a b c d
A) 1 2 4

)
2
=N
w
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191.

Match the Pesticides in List I correctly with their chemical nature in List IT and

select your answer using the codes given below :

List I List II

a)  Aldrin 1. Synthetic pyrethroid

b) Fenvalerate 2. Carbamate

¢) Parathion 3. Chlorinated hydrocarbon

d} Aldicarb 4. Organophosphate.
Codes : '

a b c d
A3 1 2 4
B)/?; 1 4 2
C) 2 1 4 3
D) 2 1 3 4.
QaT@&HGUULL sur&sdlukiseaneTs &eouetl:

L. Govd — L &srigur Gevser

. uwl@® — umbiiéev Guomifl

. Ggeol — giilev @)evorig s

V.  wsrul @ — 2458 Crwr yevauriblGueenilery.
Bleupmyer
A) 1 1 epmis [ eflureareane B) L I wbnb IV sflureteney
C) L Iwhon IV eflureremey D) Soasgd efluraiee.
State which of the following pairs are correct ?

L. Lac — Tacchardia lacca

Il Rawsilk — Bombyx mori

III.  Honey — Apis indica

IV. Muga silk — Antheraea assamensis.
Of these
A) I. Il and IIl are correct B] I, IIl and IV are correct
C) [. II and [V are correct D)~ All are correct.
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192, &pasranueubye, g stlural Qurhesou [HeTerg) 2

A Sgmibeet —  Qleosamives

B)  &dedn - geraflles Camfimener srhdl oyfldse
C) Geowishy - (GE&HEN

D) Cumuysien Gerrifl —  CmSwr

Which one of the following is correctly matched ?

A)  Broiler — Leghorns
B) Culling — Cannibalistic bird
C) Layers — Sussex
-~
DY - Sick bird — Tarpeia.

193. &péametiLeuDms 6 & LM CUEGHENETH SITEHEGUENSU 7
A)  seCarGaryflasy mebaandley  B)  wgesyGurellen seanlyen
C)  ev@urGLrinegm edliiguymr D) eopQestmélymety cueso(.
Among the following which is a pest of pulses ?
A) ‘Callosobruchus Chinensis B) Tribolisum confusum
C) Spodoptera litura D} Rhinoceros heetle.

194. Blysr ul G 2 pusd Glewyd ul UL e
A) s CrCu evwelh B) oy e GyGw Gludlerull
C)  ye1sCrGw gevevrClosdley D) oy CrGu gmwebl.
Muga silk is produced by
A)  Antheraea mylitta B)  Antheraea pernyi
cV Antheraea assamensis D)  Antheraea roylet.

195. Gaafba@phadloldle goue Qamiry &peacorieuhmem . ereubiie (penTs
oo Gumidime 2

A) LT(R&H6 B] wLetwrhge
C)  owsc D)  epglase.
Communication between honeybees are by

A) Singing B‘?/Damcing

C] Crying B D)  Meeting.
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196. utgwés I wigué IT 2 e eflurel Qur@psdls &ps @PLll Gerenr @diuiGeeiss

apqUueme e eflures elleaws Carey Gews :

a)
b)
c)
d)
GolRser :
a
A2
B} 4
C) 1
D} 3

g wen I
L meey Gy dlesthuir
%g’;,a;’?@guﬂm QIFITLOIT
9SGy CuSlun

uiribc s ey Guomf!

b c’ d
3 4 1
1 2 3
2 3 4
4 1 2.

2.

L qués I

weuf L G

afl U@

puer L@

el ul@.

Match List I correctly with List II and select your answer using the codes given

below :
13|
b)
c)
d)
Codes :
a
A 2
B} 4
C) 1
D) 3

List I
Atlactis rechinit

Antheraea assama

Antheraea paphia

Bombyx mori
b c d
3 4 1
1 2 3
2 3 4
4 ] 2

L

List I
Mulberry silk
Eri silk
Muga silk

Tasar silk.



197.

198.

65 Z0UG

sflure QuTBpsssos Carh@s( :

. Guralur Qeerlgreledlen @66l Gacasm @)evme

. eveul et -wrné Crruriéles surfssuu@dling.
Blevppyet
A}l ToHod [ seun eoraney B) 1s&f Il geup
C) lseumy Il & D) lwpod I eflurereaeu.
Consider the following sltatements :

L. Rods are absent in Fovea Centralis.

1. Rhodopsin is synthesised by Vitamin C.
Of these
A)  Tland H are wrong BV 1 ;s correct and [l is wrong
C) ] is wrong and II is correct D) I and 1l are correct.
werlgana sreoru@d UlalGleair ams
A) smoealeu aos Nerrladdim
B} S enCGur-Carflud Jerr@ae.r
C) afGor an@Girdellud Serrhlg et m
D) afCurGsmfluc Verm@eeatirr.
In human, the placenta is
A) Yolk sac placenta
B) Syndesmochorial placenta
C) Haemoendothelial placenta
[ﬁ'\" Haemochorial placenta.
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199.

200.

et e surfess Caemeuw e &R0 ol gib

A) D ohpn L Caevs GLren 9 : 1

B Dwee@sCaryrails gublen wpnn D gensCamaenner seu@ul 5 1
C) Deaslsrlrrails oyufled whnd L CaesGmen 6 @ 1

D) @euhmer e geybleemen.

Agar-agar is a mixture of

AR~ D and L galactose in the raticof 9 : 1

B) D ghacoronic acid and D glucos..mine N sulphate in the ratio of 5 : 1

C) D glucoronic acid and L galactose in the ratio of 6 : 1

D) None of these.

SyTelleancoret Sl (hedtaL 1 Gaumul.( @BLUSDE:S SHIT)eoTos @(I‘_r;l;ll;lgj
A) C —NH —CH B C=NH

C)  (CHj3), D) @eubmet agayblaamne.
Arginine varies with citrulline due to the presence of

A) C—NH-—CH B C=NH

C) ( CH 3) 5 D) None of these.
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